AQ2, ADQ2A|2|=

S MBI (AILE ) | BEEE/2E-HRC
FEWE 1 @12, J16, @20, @25, ¥32, J40, @50, F63, J80, F100
CH L& Type : @125, 140, 160, 180, 180, F200 (p.322&=x)

ADQ 2

(1] LE AR &t
2715 7|28
D QEALX BEHXMLIF)

N
I
Rl

=l

2USTY (&
ST

124k SeHHIA (V]2 UEH)
PRES SUK| (7|2 UTHE)
SEE SR (0| 2UTE)
=)

# P2 XX| 37 0]2R &5} ELIC

# D, C, F Type MZ=7H25@ 014)

)

og

4

rOTO>»m

BH4A
12:12mm 40:40mm
16:16mm 50 : 50mm
20:20mm 63 :63mm
25:25mm 80 :80mm
32:32mm 100:100mm

¥ CH7A Type (P. 322 &%)

A2IE] BZEHF(mm)
1216:5,10,152025.30
20.25:510,15.20,25,30.35404550

3240:5,10, 15,20, 25, 30, 35, 40, 45, 50, 75, 100

50~100:10,15,20,25,30,35,40,45,50,75,100
¥ 216 EEAT(40, 50)0 &+ 309p Long Stroke &

s

D: =S4

(6] SMIALE

2|3 HEY(RE ST LAY
C  :RUBBER T4 H&t
M EETCELLIAL
Fooslesolz ea
I 1A E ROIE (22 ZEHLEAY
Y 2MHZ RQIE (ZE BT LAY

B Al ZEks
(CM, CF, Cl, CF, CFI, CFY, etc.)

268

® T7HEom MR

o ZUESI X[ EAPI7ts

® AZISE LZ0) A8 OF ASIXIS A

ErNVI k=3

* 212, 2162 4% F A2

#1,Ye a|x=g &5t

[TIAl2I=
2|5 BEY
XC16 A=
% @12~9400] A2 SHZI1E0| 72Y.

REARXC BR
2|5 2EAR 942
RN 2QEARIR|
A73K :D-AT73K (@32~@100)
WBH(V): 248 2EALIR|
FY(A)Y, 264
FHE QEARIR|
WOHV): 248 QEAR(R|
B ()Y, 244
WOHIVIN: ZAE @ EAQI|
Y (A)g, 344
W2P(L): @50~ @100
% 2= Zol7t 3me| Aol B2
LS F71EA
Gi)A73KL ~ D-A73KL
# 2IEM Zo[7t5m2| HRolls EE

22| Bt

9] LEALIR| 7|5
2715 ol BE
S 1N RE
n o 2E

2
n
B[]
e
H
ol
2

[tem Number of Mounting

FEUZE Foot Flange 244 Clevis
(mm) -4H4Z Y-HZ | Z2E Pin
12 AQL-012 | AQF—-012 | AQD-012
QI-012 QY-012 QP—-012

16 AQL—-016 | AQF—016 | AQD—-016
QI-016 QY—016 QP—012

o0 AQL—020 | AQF—020 | AQD—-020
QI—020 QY—-020 QP—020

o5 AQL—025 | AQF—025 | AQD—025
QI—025 QY—025 QP—025

32 QL—032 QF-032 QD-032
QI-032 QY—-032 QP—032

40 QL—040 QF—040 QD—040
QI-032 QY—-032 QP-032

50 QL—050 QF—-050 QD—050
QI—050 QY—-050 QP-050

63 QL—063 QF—063 QD—063
QI—050 QY—-050 QP-050

80 QL—080 QF—080 QD-080
QI—080 QY—080 QP-080

100 QL—100 QF—100 QD—100
QI—=100 QY—100 QP—100

¥ RE 27 R2A| MAC IEAY) FE 37 2EAS F20/0) FHAIR,

* ST HE

SOl H| &

BN AR AHO|ME MESBICEN

E| A 3mmFE 1mm# S7FREE X ZHo| 7kSEHLICh

0f1) AQ2B32-27DE E= Al2IH AQ2B32-30D2)
LI S0l 3mm 3 AHO|ME ARl

0f12) AQ2B50—-29D= EE AlZIE AQ2B50-50D2
L0l 21mm 5 AHO|ME ARl



o
2>

E 57 12[16 [20]25 32 4050 [63] 80 [100
.. | EETER|O[O]O]0]0]0]0]0o]0]o
T T amEr [Olo]ofololololo]olo
RHAILH olololololololololo
37|48 [ui 2 | UADISE|  M5X0.8  [Efsms| RolPT)14|RelPTI38
=0 zeacaLl |OlOJO]OOolo]o]o]o
0 x29 FMzE =2 |0l0]0]0]0]0[0[0]0]0
ALHZI O RtE} JEFQZRE |- |- |1O|O|0|0|0|0|0|0
—Ee— = (1) QEASIXT} QI A 5HEDHMEX08 ALICH
® PAZIEIS HFH Z210/0f(CH Ak YO| A Z)E
MB350 FHAI 2. EZEAIY
® XI5 S20[0f(CY AW & FAZT)E ABAl0E g8 4 SIHEERE
Z210[0f(CH 2 Y 372 BURE0| 29 Yo £ A8 & A i
E50f oY Fo7ITlof A5 £= mag dods =L 1.5MPa 15.3gifor)
QUOL| BHA| FOISHIAIR. EBH A A YO &HAS DR 1.0MPa (9 gior)
|| 74 OII_I = §|_0| S Il = 1= pc/uA le'ol" E—JAl‘%%X‘” SE _5DC~70uC (%?Eiolg)\{%a)
X‘”EE|O'1ME IE = 5, 07|E ol:lol'o:i TH= . EE%BLMP%il' KS o3
#EZ0|o| 5 &4t ik
N A8 HAE £ 50 ~ 500 mm/s
l=|;E|:|: I_H[[ I:ll-EA H=l=o0 _/\EEE O E:IH-I—:IiAIj gi %
Z2E IFSDUM VB AL = = = o
® P5I39 IAE REES TITHs| THAFIX| SOV IIAE ey ———
EEO AR (LUAMZT) 7t B 4 AL Fo oA,
E 24 [12]16]2[25]32]40]50]63] 80100
272K E22)8 [0.07[0.07]0.05]0.05 | 0.05] 0.05] 0.05]0.05] 0.05]0.05
S2H (2] g) 2HE SE2H (2l g)
EoA Meie & (mm) ESZA (mm) |12 |16 ]20 |25 ] 32| 40] 50 [ 63 | 80 [100
mm) [ST0[B]2[5][0[S[0[6]9]5[10 SxtoCtEls | 1 | 2|6 |7 | 7|67 |17]31]4
12 |olaolsleale|n|-]-1-1-1-1- 2coo[4UME(15] 3 [ 6 |12 ] 26 27| 53|53 [120]175
16 |6 | »|&a|wlw|mw|-]-[-]-1-1- aum [HE [ 12481717323 ]49]16
20 |9 (121 |1 e | as || ]| - - SlESoZ =07 (13| 2 |3 | 5] 713|225 45/ 9%
25 | 118 [ 139 | 160 | 181 |03 | 2 |45 | o6 | 87 [0 | - | - e EMEa [ 1| 2[5 |4 ]-3]-7]-9[-18]-31]-56
32 | 157 [ 180 |0 |25 | om0 | % | 36 | %0 | % |2 | 6%
40 |0 | 2| 36| 3| %0 || 4| 4| 4|06 | AN
o | olulaluls mle min e ) o-avon
il L J| ==k - —
80 | - |13 |15 1,624 | 1,714 1.804 | 1,89 1985 | 2076 2,166 | 2800 [ 3296 ';;f; _ﬁ%ff&fg? 1529
100 | - |2208]2314( 2420|2526 | 2632 | 2738 | 2844 | 2950 | 3,056 | 3801 | 4318 @ =333 'T;;; %’\069
K 2EAEZ AR|RE p309EE EEgE LA e10g
B M BE oo g
= 1730
LEAQX B2 2EEEH
QEAQIX| HA HA7| 27 2 EEEI=FE
BQ-1 12~25
AT BQ-2 32~125

269



TEE/FEF LIST 0|

ey r

i
u

I
F

— OuUT

KHEH}SE =l
(mm) eee 0.3 05 0.7
0 IN 25 2 59
ouT 34 57 79
5 IN 45 75 106
ouT 60 101 141
20 IN 71 118 165
ouT 94 157 220
o IN 113 189 264
ouT 147 245 344
. IN 181 302 422
ouT 24 402 563
IN 317 528 739
EEBO AL HEZ0l2 BA 40 ouT 377 628 880
5 IN 4% 825 1150
ouT 589 982 1370
2 LIST/REEE/27IHEFRY 63 . R S
- IN 1360 2270 3170
No = 9 ¥ M E H 2 & ouT 1510 | 2510 | 3520
1 ROD COVER 1 | YR0iEE2 | ZEALUMITE 10 IN 2140 3570 5000
2 | CYUNDERTUBE | 1 | «=nis3a2 ouT 2360 3930 5500
3 PISTON 1 | YF0jEEE | 3A=MoE N = 0.102kgf
4 END PLATE 1 OE"'?'D"IE' E‘E 73@' ALUMITE 1MPa = 102kgf/cm2
5 GASKET 1 NBR
6 | PISTONPACKING | 1 NBR
7 | RODPACKING | 1 NBR
8-1| PISTONROD 1 | 2HAZT | LA TYPE d Ju -
8-2| PISTONROD 1 | AEBAZY | 2LAFTYPE ’ \ i
9 | RODENDNUT | 1 z OfoIEHA &= 2 _ @ o
10 SNAP RING 1 ElAR2TY SO - N /
11 MAGNET 1 | NBR+Ba Ferrite . ~= \
12 | BUMPER “A” 1 | POLYURETHANE | 2E7{HS H&H »Mf '
13 | BUMPER ‘B’ 1 | POLYURETHANE | ZAEZ Rz ~A
14 EE] 1 | YR0iE82 | ZEALUMITE
N EEEENE
% @12, 3162 4 PISTON, PISTON-BZ 22/ s 4 (mm) d O AR
% @12, 162 AR |ES 012 END PLATE g2 M5x0.8—PL 12 M5 X 0.8 4 8 |92
x* SAZ7H71=Y. M6 1.0-PL 16 M6 x 1 5 |10 |115
=) H|QE EfQ|-EtAZt TNT-02 20 M8 X 1.25 5 13 150
TNT-03 25 MIOX125 | 6 | 17 |196
TNT—04 32,40 Mi4x15 | 8 | 22 |254
TNT—05 50, 63 Mi8x15 | 11 | 27 [312
TNT-08 80 M2x15 | 13 | 32 [370
TNT-10 100 M6x15 | 16 | 41 |473
Z LIST/uERE/E7|¢HE=29)E
NO Z g ME| @12 216 220 225 232 240 250 263 280 | @100
GASKET NBR | C-10 | C-14 | C-18 C-2 | C-29 | C-3% C-46 | C-60 | C-75 | C-9%

PISTON PACKING | NBR | TPSA-12 | TPSA-16 | TPSA-20 | TPSA-25 | TPSA-32 | TPSA-40 | TPSA-50 | TPSA-63 | TPSA-80 |TPSA-100
ROD PACKING NBR | DYR-6K | DYR-8K |DYR-10SK | DYR-12 | DYR-16 | PDU-16Z | PDU-20Z | PDU-20Z | PDU-25Z | PDU-30Z

~N || O

270



(EE 2¢ )
QULIAFTYPE

2-M5x%0.8
gl e~
4-QON & HLIAF R EZ0| C (@85 73)
2X4-@0 LA Q B
= L
T =T
e Hi

(220, 25)
# o i
e N R O i AV, [
(—’?—'—M}TYPE)
EEEZLH LA TYPE (B2l : mm)
Eo L1 Ci H1 X aj@
12 14 9 M5%0.8 105
16 155 10 MBX1.0 12
20 185 12 M8x1.25 14
25 25 15 MI0X1.25 | 175
HEY (Er2l - mm)
s Bz d X Long Stroke
= Y e e Long oz ol Hx
FEWE | o REAQRX S QEAQX| HEH S REALQX GIF, FE D|N|K|E | MO
S T lmlmlL]als|m[alL]als ] mla]L B
12 | 5~30[205|17 [35]75| 5 31528 [35] 11 [ 65|35~50 (455 32 (135 75|75] 6 [35]| 5 | 32 [155(25
16 | 5~30| 2 |185/35] 8 |55/ 34 [305/35] 11 [ 55]35~50 (455 32 [135]75|75] 8 [35| 6 | 38 | 20 [29
20 | 5~50| 24 [195|45 (10555 36 |315| 4510555 ~ | - | - | -] -] -110]55| 8 | 47 [255|36
25 | 5~50 |275/225| 5 |11 [55(375(325] 5 [11 |55 ~ | - | -] -] -1 -112]55/10]5 |28 |40
=504 m C 0 % Long Strock 7+ Al2| == 309p &E
12 M3%0.5 6 6.5210] 4 ¥ QEALX|TLE EBF G125 stroke, @20/25—5/10 stroke=
16 M4X0.7 8 6520 4 Feol FHREES SHH0l A5,
2 M5X08 7 920[7 # 2B TN R A2 FRSE 9o AEHT SUE,
25 M6x1.0 12 9zl0]7 i U TYPES| B2 E p 315 &2

271



272

BEIHY

)/AQ2B, ADQ2B

¥ ¢ 32,40,502 42

N

P
(572

e
Cc1
. .
L1
e
=9y (E+9] : mm)
BE BEAY
Eg| - —
i bS] QEAQIX| oS QEALIX| BE C|DI[EG| H | |J|K|L|M|N|QGO|lW|Z
Sl #e (A |AB|B| P Q |M[AB|B]| P Q
5 55| M5x08 | 11.5
30 |23 10.5
@32| 10~50 . Re(PT) 105 40 (33|75 R‘;(/ZT) 13(16| 45 | M8x125 | 60 |4.5|14 | 7 | 34 |5.5|92017| 495135
75,100 | 40 |33 | 1/8 ' 125
5~50 |36.5[29.5 Re(PT) | 11 Re(PT) | 11 gzlof7
. . X .
@40 75100 146512935 8 18 ” 46,5395 8 8 ” 13(16| 52| M8x125 |69 | 5 [14| 7 |40|55 57 | 14
10~50 |38.530.5 Re(PT) | 105 Rc(PT) | 105 1120(8
105 48.5/40.5[10.5 X1, . .
@50 75 100 14851405 i o A ” 15(20| 64 | MI0X15 |87 | 7 [17] 8|50 (6.6 71 185
10~50 | 44 | 36 Re(PT) | 15 Re(PT) | 15 1420
105 54 | 46 [10.5 X1. .
263 75100 | 54 | 46 A TY: A T 15(20| 77 | M10x15 |103| 7 [17| 8|60 9 05 84 |185
10~50 |53.5/43.5 Rc(PT) | 16 Rc(PT) | 16 17.520]
125 63.553.5/12.5 X,
@80 75100 635[535 a8 0 38 " 21125| 98 | Mi6x20 [132| 6 | 22(10| 77| 11 s 104 | 2
10~50 | 65 | 53 Re(PT) Re(PT) 17,6201
13 23 | 75|63]13 23 |2 X2. 5]27]12 .
2100 75700 | 75 | 63 38 38 7130|117| M20x25 [156|6.5]27 | 12|94 | 11 s 123.5| 22
¥ SAEZ3(101~300ST) 2l A% p.309 X (BAEZF AZE)
ECEECH LA TYPE (2] : mm) SES CIZRES AL
FELHY Ct H1 L1 X FELHE G @Thg
@32 20.5 M14X1.5 285 235 @32 2 21 %
@40 20.5 M14X1.5 285 235 @40 2 28 %
@50 2% M18X1.5 335 285 @50 2 35 %o
763 2% M18X1.5 335 285 763 2 35 %
780 25 M22X1.5 435 35.5 @80 2 43 %
@100 325 M26X1.5 435 35.5 2100 2 59 oo




iiE

ZEES/A(D)Q2L
J12~225 32~2100
o L AB+EEHE
L AB+HEZ=HH T
] il
] ]
o] T S|
i talll LH%DAL: G (i
] ] g r B
) )L it H X JEﬁ 5 / - 17 L ﬁ
\ : w g j I i I N i I
8—LM Bolt AC+EEHT 4—LM Bolt ACJ;;gm
AT EFYE AA+E—E—%"%OO
LS 4-gLD
LS 4-@LD

£

Fﬁﬁﬂ!:ﬁ
A
YN

LJ| LK ‘ LJ| LK
WA A (E42] )
go | EE e
L4 SHA LEALX g2 LEALIX| B&F L L1 LA LB LD LF LG LJ LM LK LS LT
el A | AB | Ac | Aa | aB | AC
12 | 580 353 |17 | 5 |463| 28 | 16 |50 oy | 17 |295| 45| 34 | 4 | 45 | Max07 | 8 | 28 | 2

35~50 483 | 32 | 20 | 555 32 | 20

16 5~30 36.8 | 18.5 | 6.5 | 48.8 | 30.5 | 18.5

35-50 831 % [ 20 (551 32 | 20 135 (265 19 | 335 | 45 | 38 | 48

(&)1

M4 x0.7 8§ [ 28| 2

20 5~50 421195 | 75 532|315 195|145 285 | 24 | 42 | 66 | 48 | 62 | 58 | M6X1.0 | 92 | 4 | 32

25 5~50 4471225 | 7.5 | 547 | 325 (175 | 16 [3256| 26 | 46 | 66 | 52 | 66 | 58 | M6X1.0 |10.7| 4 | 32

32 572 | 33 | 17 | 17 | 385 | 30 | 57 | 66 | 67 | 71 | 58 | M6x1.0 | 11.2| 4 | 32

0 e e o 37 305|235 | 17 |35 | 33 | 64 | 66| 64 | 78 | 7 | Mex10 | 12| 4 |32
50 ;g;g% DTN T2 667 (405|175 18 (435 % | 78 | 9 | 79| %5 | 8 | M1 |147| 5 | 82
63 —or 22 8 70| 45 |20 | 18 |435( 46 |95 | 11 | %5 |13 | 9 | Miox15 |162| 5 |32
80 ;g;gg D55 B8 85 595|285 20 585|590 | 114 | 13 | 118 | 140 | 11 | Mi2x175 | 195| 7 | 45
100 |00 [ 8 |88 | 19 1 o9 | 63 | o9 | 22 |535| 71 |136 | 13 | 137 | 162 | 125 | Mi2xi75 | 23 | 7 | 6

¥ STF £ 24l A A-TYPE TUBE 7t 7129,
# ED(Q X|ps BE AR k|40 S

¥ FIE SDA| ARIHQ 24 Sl |AS 0| FR MEHY.
# EAERI(101~300ST) 2| A p.309 X (EAERT A2]X)

273



274

2= ERX|/A(D)Q2F

J12~25
2—JFP T
2—9FD
™
AN A
DA &% Ao o) &
Fas) A
N | N\
EF L1 L_L AB+EEHT
FF A EEHE
FG
@32~3100 s )
2-@FP
— _ N
NS Qﬁ
W? 2
RN Y P = =
It AT P
SO Do :
R\ - -
EF **—‘ L AB+EZHH
FF AAHEZHT
FG
M A el i)
| == EZHH
Wz | oY  |eErexoiS|eEAgx®A| L | L1 | FB | FD | FP | FE | FF | FG | FM | FN | FT
(@) hi A | AB | AA | AB
5~30 305 | 17 | 415 | 28 B
12 e e gy | 195 | 24 | 25 | 45 | 31 | 28 | 45 | 55 | 155 55
5~30 32 | 185 | 44 | 305 B
16 e 0 RS 135 | 255 | 30 | 45 | 31 | 4 | 45 | 8 | 0 55
20 5~50 3 | 195 | 46 | 315 | 145 | 285 | 39 | 66 | 31 | 28 | 48 | 60 | 255 | - 8
25 5~50 375 | 25 | 475 | 325 | 15 | 325 | 42 | 66 | 41 | 4 | 52 | &4 | 28 | - 8
5~50 0 | 23
2 g S5y 0 | 3 | 17 |35 | 4 | 55 | 41 | - | 8 | 6 | 3% | 3 | 8
5~50 65 | 295
40 s | %65 | 35 | 17 [ @5 | 84 | 85 | 41 | - | 6@ | 72 | & | 4| 8
5~50 5 | 36
50 100535 05| 6 | % | 18 |45 | &7 | 66 | 81 | - | 76 | & | 80 | 50 | 9
10~50 5 | 36 B
63 7519 S 6 | % | 18 | @5 80 | 9 | 51 @ | 108 | 60 | 60 | 9
10~50 | 635 | 435
80 |—eioo 735 gy 735 | 85| 2 |85 9 | 11 |61 | - | V6| 134 | 7 | 7| 1
10~50 % | 5 B
100 5100 o] 8 | 6 | 2 |85 | 17 | 11 | 61 136 | 154 | o4 | % | 11

% 2TF A 421010 B2 A-TYPE TUBE 7} 712,

® R7(Q] X5 BE MBI X2t LY.



HI=% SAIH/A(D)Q2G

d12~0825
2-gFP
2—@FD
Pk fﬁ ﬁw Te
b\ T °
e A
1 - SZIgNEg)\ >
L
L AB+EZFHH FT EF
AA+HZHT FF
FG
2-oFP
@32~2100 2—BFD
— /I
Y | WA
w? D S ﬁw
Vs
j m; SN Iz im
- Y\ e\ Y
% L AB+EZEHY FT EF
AA+EFHT FF
FG
M Ea el i)
E - prs E_i_%lgl
LHE gcp)ng LEALX AF | LEARIX| F& L L1 FB FD FP FE FF FG FM FN FT
(@) | &= M | AB | A | AB
530 %6 | 17 | 3 | 28 | 35 | 14 i}
2 s | 51 [ 32 [ 51 | @ |35 | 24 | D |4 |3 & | B 5% |6 55
530 | 275 | 185 | 395 | 305 | 35 | 155 3
e 5 [ [ 5 [ ® [ 135 | 5| 0|36 A B X 2
20 | 550 % | 195 | 4 | 315 | 45 | 185 | 39 | 66 | 31 | 48 | 28 | 60 | 55| - | 8
25 | 550 | 355 | 225 | 455 | 325 | 5 | 225 | 42 | 66 | 41 | 5 | 3 | 64 | 28 | - | 8
5~50 B | 3 B
2 o m o m | % | B | 7 | 85| @8 | 55 | 41 56 | 65 | 34 | 3% | 8
550 | 45 | 295 3
0 it e e 545 | ®5 | 7 |85 | & | 55 | 4 6 | 72 | 4 | 4 | 8
550 | 475 | 305
50 o ereqe 575 |05 | 8 | B85 6 |66 | 51 | - | 7 | 8 | 50 | 50 | 9
10-5 | 53 | % :
63 o 1% 6 | © | 8 |35 | & | 9 | 5 % | 108 | 60 | 60 | 9
1050 | 645 | 435 }
80 —s700 e e 745 | 885 | 10 | 45| % | 11 | 6 16 | 134 | 7| 7| N
105 | 76 | 5 3
100 —ero— g5 % | 8 | 12 | 45| 17 | 1 | 61 1% | 154 | 94 | 94 | 11

% 2TF A 421010 B A-TYPE TUBE 7} 712,

# H7|9| X BE MRIC| X150 SUst,



276

24 SefjH|AS/A(D)Q2D
J12~25
T 4-cmBott .
‘ 7 JCDH10 f\ f\
1 ./ 616
NN !
| @
L CE | lexte| [
AB+HZEHH CF CB cY
AAHEEHH [1CG
332~3100 cT 4—CM Bolt
A @CDHIO 2 N
5 ®
] ll I
SICEa sl
— 1 T |
O @
U CE CXi0s
AB+EZHH CF cB CY5s
A+EZHH [JCG
MA:G12~F25-EtaZ, @332~3100—F&H (=2 :mm)
=] == eSS
LA SHA LEAQX Y | LEALQR| FE L L1 CB CE CF CG CM CD CT CX CcY (C@C)
@ | B4 T aa a8 | a8
530 | 405 | 17 | 515 28 | 35 | 14 10,05
"2 T30 865 32 (655 32 (135 24| O | T | M| B | mx0T |5 Al st
530 | 43 | 185 | 55 | 305 35 | 155 0.0
"® 3550 865 3 [665] 32 | 135 55| © | 10| 15| B | Mx07T ) 5 Ve W
20 | 550 51 | 195| 63 | 315| 45 | 185 9 | 12 | 18 | 36 | M6x10 8+8'06 5 1 8 | 16| 2
25 | 550 | 575 | 225|675 |325| 5 | 25| 10 | 14 | 20 | 40 | Mex10 | 10 *8'06 5 | 10| 20 | 2
55 | 60 | 23 10.06 B
2 oo e 0| ® 7 285 10| 14| 20| 45| Wex10 | 107 5 | 18 | 36
5~50 | 685 | 295 10,06 B
40 o5t ope | 85|35 | 7 285 10 | 14| 2| 2| Mex10 | 107 6 | 18 | 3
10~50 | 805 | 305 1007 B
50 5700 opg a5 | 45| 8 385 14| 2| 28| 64 | M1 | 1477 7 2| i
10-5 | 88 | 3 10,07 B
63 oo B | % | 8 |B/5| 14| 0| | 7| woxt5 | 147 8 | 2 | 44
10~50 1005 435 007 B
80 —e700 oSt Ee| 1195 885 | 10 | 435| 18 | 27 | 3 | B | Mi2x175 | 18 ) 10| 28| 56
1050 | 132 | 53 +0.084 B
100 st 2| 8 | 12 |45 2 | 8 | 46 | 17| m2xi7s | 2 10| 32| 5

% STF 2AHL2I09| B2 A-TYPE TUBE 71712,

¥ 0|9| K BE MBI X459 SUE.

# K|S ZIA| MBITIOf 20 Z2fu| Al 0|E AENe.
* 2AEZT(101~3008T) 2| A2 p.309 EE (BAERT ARIX)



MM M1 @TDH10

(T

N

24} L2 ZOIE

J12~016

320, 925

M1 QTDH10

é‘r\:: - S

]
TY

TZ <01

MM

G
anY
%

J32~2100

—h

N

MM M1

@TDH10

N

10

| -

TY +0.1
TZ 0.1

24 L2 XOIE Tl [ 24 SajH|A
R e
|

A EbAZE (E+21:mm)
Z2e 28 A | B|C|E (8) MM | MI | @TDH10 |  TX
Q-012| 12 |215| 16 |25 | 7 | 12 | M5%0.8 5 508 5 94
QI-016| 16 | 32 | 25 | 3 | 14 | 14 | M6X1.0 5 *50% ) 6.4 32
QI-020| 20 | 34 | 25 | 4 |115| 18 | M8x1.25 |85 | 8 *O%¢| g 02
QI—-025| 25 | 41 | 30 | 5 | 14 | 23 [M10x1.25(10.5| 10 *4%8 | 10 202
QI-032 [32,40| 42 | 30 | 6 | 14 | 29 | M14x1.5 | 14 | 10 *4%¢ | 18 02
QI-050 [50,63| 56 | 40 | 6.5 | 20 | 36 | M18x1.5 | 18 | 14 *0070 ) 25 ~03
Q-080| 80 | 71 | 50 | 8 | 27 | 38 |M22x1.5 | 21 | 18 *0070 | pg 0%
QI-100 (100 | 79 | 55 | 10 | 31 | 44 | M26x1.5 | 21 | 22 *0084 ) gp ~08
WA :@12~@25- 4, G32~@100-FH (242 2nm)
Z2e 2 A|B|C|E|G|F| MM |M|@TDHIO| TX |TY|7Z
Qv-012 | 12 215/ 16| 6 | 7 |@12| - | M5%0.8 | 6 | 5 "8 5 0% | 10 |14.6
Qv-016 | 16 | 28 | 21 | 8 | 10 |@14| — | M6x1.0 | 7 | 5 5% 6520% | 12 |166
QV-020 | 20 | 34 | 25 [9.5|11.5/@18| 16 [M8x1.25| 85| 8 *20%8| g 04 | 16 | f
QY-025 | 25 | 41| 30 | 14 | 14 |@22| 20 [M10%1.2510.5] 10 *9%%8| 10 233 | 20 |256
QY-032 |32,40| 42 | 30 | — | 14 |@22| - |M14x1.5| 16 | 10 *90%8| 18 03 | 36 |41.6
QY-050 [50,63| 56 | 40 | — | 20 |@28| — | M18x1.5| 20 | 14 *9070) 22 Z0° | 44 |50.6
QY-080 | 80 | 71|50 | — | 27 |@38] - |M22x1.5| 23 | 18 *0070) 28 0% | 56 | 64
QY100 | 100 | 79 | 55 | — | 31 (@44 — |M26x1.5| 24 | 22 *O084) 32 02 | 64 | 72
A EAZ (242 nm)
g9 TE0EH gDag U e | P | w | B |nsau
QP-012| 12 5 008 146 | 102 | 15 0.7 | 47 |=z8cEs
QP-016| 16 5 o 166 | 122 15 0.7 47 | 3scH5
QP-020| 20 8 0% 21 16.2 15 0.9 75 |=z8cHs
QP—025| 25 10 23332 256 | 202 | 15 | 115 | 94 |=8cHi0
QP-032| 32,40 10 23932 46 | 362 | 155 | 115 | 94 |=8c#10
QP—050| 50,63 14 290%0 506 | 442 | 205 | 115 | 131 |=8cH14
QP—080| 80 18 9088 64 | 562 | 25 | 135 | 168 |%8CH18
QP-100| 100 22 Z0.968 72 | 842 | 255 | 135 | 208 |58CEX
A EAZ (42 nm)
= H aﬁj:“m')a d J A C
M5x0.8—PL 12 M5x0.8 4 8 9.2
M5 0.8—PL 16 M6x1.0 5 10 1.5
TNT-02 20 M8x1.25 5 13 15
TNT-03 25 M10%1.25 6 17 19.6
TNT—04 32,40 M14x1.5 8 22 25.4
TNT-05 50,63 M18x1.5 11 27 31.2
TNT-08 80 M22x1.5 13 32 37.0
TNT-10 100 M26x1.5 16 4 47.3

277



